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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :
1x10=10

wore fraicais Mot st Tes ot ¢

(a) Capital reserve arising out of revaluation
of assets is also available for issue of
bonus share.

(State whether the statement is true or
false)
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2] A6 T Reqet R =R |
(Cf&Th! o7 & woF F3)

(b) The buy back of share does not exceed
per cent of the total paid up

capital and free reserves of the company.

(Fill in the blank)

G977 IR FRE @i 3%
T POEMNFE TR % O/
8T W @ERIGE| (Tt A2 of3e 7)
(¢) Remuneration paid to an auditor is

shown in the statement of Profit and
Loss as ‘other expenses’ under the main

head (Fill in the blank)
E LRk vrﬁmm B9 ] FAS-CEIGIN
R = from I GHTS ST R
fBpitet (T | (T} 912 9[39 F)

(d) State onereason for issuing right shares
to the existing shareholders.

TEE THYITT AFAF SEPIRYE SHieig e
T G5t T T ]|

(e) Payment made to the creditors in final
settlement of the transferor company is
not included in purchase consideration
for amalgamation.

(State whether the statement is true or

false)
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BIfeT 11419 AT TBITIIIKT @A AN SAMITS
T 2ol eI et A sif{eaiy 31 57 Fmpre
AR @R TR
(Cfeth omel @ quge! e 7)
(/) In case of internal reconstruction only
the shareholders are required to
sacrifice.

(State whether the statement is true or
false)

ISR 2[HTINT (R FaT S o1 LI Optsl
PR IR AN (T 0F @ w97 &)

(g) In case of partly owned subsidiary the
question of minority shareholders will
not arise.

(State whether the statement is true or
false)
GRMIFSITE SR (NI (IS SR
T G54 LI A |

(CfeThr 0% @ o oY)

(h) Under super profit method, valuation of
goodwill is based on the average
super profit earned by the business.
(Fill in the blank)
S S AR IRATI AN N &S
=iled 8ofFe fofe ol ot w1 =)
(T 312 239 )
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(i) “Financial gain is one of the advantages
of amalgamation.”
(State whether the statement is true or

false)

“NF TS GNP 6! Srwiy |
* (Cfehr o @ Go7 1))

() Mention one mode through which
alteration of capital may be done by a
company.

IR LA e BRI 217 (51 orfo S
S f

2. Answer the following questions : 2x5=10
| oo ePHTAI T e
(@) When and how profit is capitalised ?
(RN WA (FCACF S TIPS 1 202

(b) What is purchase consideration in the
content of amalgamation ?

TR ARefres ‘T Rrea e [
@ e
() What is buy-back of shares ?

GRHI 9T & WA 2
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(d) Explain the treatment of ‘preliminary
expenses’ while preparing the final
accounts of a company.

I FOIS b1+ ‘e 5’ fRpioi 37
A A
(e} What is cost of control in the accounts
of holding company ?
4iITT IR fRpiore FgeR 353 i (e
3. Write brief answer of any four of the
following : 5x4=20
were Ul Ricwzat 5161 Rawa o Tes frmtt

(a) State the conditions to be fulfilled by a
company to buy-back its equity shares.
32 e o T IR AR @A GBI
539 TR TN OEIT T 4 |

(b) Mention the purposes for which
‘securities premium reserve’ received by
a company can be utilized.

@Bt AN el efoefes wftgR fe &
Trweire QT FRA AT, T 1 |

(¢ How is a scheme of interval
reconstruction is prepared ?

HISTBRN A A1 TSH (I UGS T 2

4 (Sem-4/CBCSjCAC/G 5 Contd.



(d) The following is the extract of Trial
Balance of Prapti Limited as on 31-3-

2023 :

A} fifises 31-3-2023 wifivw Tye

fEmelas siiReiT were 21 2
Opening inventory (¥ 7o *44) 18,200
Sales (k&) 2,73,000
Salary (W) 5,000
Purchases (&3) 2,15,500
Sales returns (R& fime) 3,000
Dividend Received (7 2if%) 5,300
Import Licence fee (STt GRI1 TpsT) 2,400
Auditors fee (7Z5le! 4= TpaT) 1,000
Staff welfare expenses (TR TN ) 2,000
Machinery (Fa#iffs) 71,000
Advertisement (@) 4,300
Interest on debenture (49979 893S 7g) 1,000

You are required to prepare a statement
of Profit and Loss after considering the
following :

wete el RETeTz Kol 3R 9 ae- sl
7o eme 3 ¢

Closing stock on 31.3.2023 is Rs. 18,000.

31.3.2023 s FNEA TGS 7I4F 18,000
Bl
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(e) Pass Journal entries in the books of
transferee company under ‘purchase
method.’

FER 4RS! PRI IR T AGO© Tieawl
2R

() The net assets of Prajapati Ltd. were
valued as goodwill Rs.28,200, fixed
assets Rs.9,00,000. It has the liabilities
as preference capital Rs.1,00,000.
debenture Rs.5,00,000, trade creditors
Rs.1,25,000. The company has 5,000
equity shares of Rs.10 each. Find out
the intrinsic value of one equity share

on net assets basis.

AeI+ifs FfRTETs 7o +ife] o0 T, Jw
28,200 B, FiM 7=1f% 9,00,000 53t | TR
(APTR 2 SfERRES @4 1,00,000 5,
499@ 5,00,000 B, FINMII ASAWII
1,25,000 531 | (FT{IBR &fSTht 10 Soits
5,000 352 SiHivlg BITg | 35 Tifee oif e
fofee b1 Sixiviaa 3f5s 1 A w11
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4. Answer the following questions : (any four)

10x4=40

e A S Wl s (R 516

(a) From the following balances of Polok Ltd.
as on 31-3-2023, prepare a Balance
Sheet as per the Companies Act, 2013 :

31-3-2023 ©ifR¥s ¥ frsre Tges 7|91 2013

B CRI™AII SiR SR sfers ffibes Tye
Zfooia e 31 ¢
24,000 Equity shares of Rs.100 each 24,00,000
ofSTH1S 100 S 24,000 A S19ig
Sundry Creditors 3,20,000
iRy sneAm
ICICI Bank Loan 2,00,000
ICICI R ¥
Proposed Dividend 1,20,000
4IRS e
10% Debenture 10,00,000
10% ¥49g
General Reserve 2,20,000
R off
Securities Premium Reserve 1,20,000
ofgos it o
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Surplus in statement of Profit & Loss on 31.3.2023  6,40,000

are-(ERmR R3eR I

Live Stock 3,40,000
G|

Land and Building 13,20,000
i o 2

Cash Balance 2,00,000
PR M 4

Stock in trade 4,00,000
e 47

Loose Tools 2,40,000
4 e

Furniture 4,00,000
5K

Plant and Machinery 14,00,000
381 1% Wl

Sundry Debtors 5,40,000
2y oerm

Prepaid Rent 20,000
SN g eIel

Investment 1,60,Q00
ezt
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You are required to prepare a Balance
Sheet of the company as per schedule
III of the Companies Act, 2013,

2013 578 GAIIIT QR 5 111 Pt @2y
e ool e 31|

(i) The existing shares to be made fully
paid up without the shareholders
having to pay anything.

CRICA! T IR fNfiess 36 wieomz
syl AARCeNY I ER =R

(i) Each shareholder to be given bonus
shares for the remaining amount.
The shares to be valued at Rs.125.

Give journal entries in the books of
the company for issuing bonus
shares.

R 2t JfSr RIS AfSTHI =it i s
QG @i 1 N | SRR 125 Bl
TR R AR

QI S R 9 A @RI IR
it AR farn
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(b) The following are the Balance Sheets of
H Ltd. and its subsidiary S Ltd. as on
31st March, 2023 :

31.3.2023 ©iff® H ffee wi= S Fifges
e [4fSelq were fa =1 3
Amount %)

Particulars (RR) Hitd. | SLt.
I Equity and Liabilities
Y% (TR
(1) Shareholders' Funds :
W R o ¢
(a) Share Capital (3% J74) :
Equity shares of Rs. 10 each 1,20,000 | 40,000
Ty w ofecht 10 Fala ot
(b} Reserves and Surplus :
s}
Surplus in statement of Profit & Loss 10,000 | 4,000
ae-ERDIR Rgfe 8 99
(2) Current Liabilities : Sundry Creditors 54,000 | 12,000
e ol ¢ R e

I1. Assets (T1f8)

(a) Non-current Assets

Total () 1,84000 | 56,000

Property and Equipment 1,36,000 | 56,000
Yl
(b) Non-current Investment
BT RN
Shares in S Ltd. 48000 | —

s fifibw
Total (%) 1,84,000 | 56,000
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The shares were acquired by H Ltd. as
on 31st March, 2023 prepare the
consolidated Balance Sheet of the
holding company and its subsidiary as
on 31st March, 2023.

2023 79 31st W ©iffee H FifSds 9 S
fSes Siioig wIfta= 312023 59 31st
W ©IRYS holding company W%

subsidiary company I 7ifeie S 3ot

U4FO 11|

(c) What is meant by valuation of shares ?
Explain the need for valuation of shares.
2+8=10

SR¥AG I JEiC 1 @it 2 weeisfes e
RSl ARG |

(d) The following is the Balance Sheet of
Overconfident Ltd. as at 31st March,
2023 :

31.3.2023 Sif¥ss oS FifGes
b€ o were g == 3

4 (Sem-4/CBCS) CAC/G 12



Balance Sheet as on 31-03-2023
Wgea 31.03.2023 S
Particulars (7&F) R
I Equity and Liabilities
T TR
(1) Shareholders Fund
R T
{a) Share Capital :
!
90,000 Equity shares of Rs.10 each fully paid 9,00,000
ofetdl 10 T3l 90,000 3 e
45,000 Preference shares of Rs.10 each 4,50,000
ofeTH! 10 Balts 45,000 WG B0
(b) Reservesand Surplus:
fRioen
Surplus (Deficit in statement of Profit & Loss) (3,15,000)
TR (Ae-wi figfeq o)
(29) Non-current Liabilities
wHfTS (i |
Debentures 1,35,000
449 '
(3) Current Liabilities
oFr
{a) Trade payables : Sundry creditors 1,15,000
T o & R e

Total (3) | 12,85,000
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Particulars (A&l

R

I1. Assets (F4fd) :
(1) Non-current Assets
whiere T
{a) Property and Equipment :
TR
Machinery (1)

(b) Goodwill (1)
{c) Other Intangible Assets : Trade Mark

) s 7o ¢ e
(2) Current Assets (57 F{R) :
(a) Inventory (¥ %)
(b Trade receivables : Debtors
TR el 8 (A

Total (33)

4,530,000
45,000
90,000

3,40,000
3,60,000

[ 1285000

The company adopted the following
scheme of reconstruction :

AT Reare oRsfon Sinf azt 1 ¢

(i) The equity shares were to be
reduced by Rs.5 each and the
preference share to Rs.6 each.

2330 wieisg ATl 5 Tt gt o
AfSCo! waifeeia T& Siofg 6 Bare Rdfad
= =
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(i) Goodwill, deferred expenses and
deficit in statement of Profit & Loss
were to be written off, machineries
to be depreciated by Rs.80,000,
inventory to be written off by
Rs.60,000 and provisions on
debtors to be kept for Rs.40,000.

I, Refire n wise oo Eese RYfos
qi5fS S Reifics g R s | 3@t
80,000 5% 7T ReiSirs arfFRa =AM |
TGO 60,000 T =R Reidice 4
PRI A % (WM €7S 40,000 B
weey S Tl IR = |

Pass Journal entries to record the
same and show the Balance Sheet
of company. 6+4=10

<7 Bploige T AR Tl ARk faa
i (PR Oge fFfosia (ryedt|

(e) Explain the various methods of valuation
of Goodwill.

AN TR RS smf® g <=

() Explain the meaning and objectives of
amalgamation of companies. 4+6=10

@INIR (TR O SR TR I
|
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(g) Discuss the procedure of issue of bonus
shares. State the accounting entries to
be made in the books of the company
for issue of bonus shares.  4+6=10

TS e R AR AT 31 1315 gl
R AR @R IR FmM s
AR T 3 |
(h) (i) Explain briefly the amalgamation in
the nature of merger.

SifEal ePfes TaieeT Ra sais
S5 39 |

!
(i) Distinguish between bonus shares
and right shares.

A5 T S IR XIS TG AT

N |
5+5=10
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